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QUESTION 1

The following configuration default routing commands are correct () 

A. [Huawei]ip route static 0.0.0.0 0.0.0.0 192.168.1.1 

B. [Huawei]ip route static 0.0.0.0 255.255.255.255 192.168.1.1 

C. [Huawei Serial0]ip route static 0.0.0.0 0.0.0.0 0.0.0.0 - 

D. [Huawei]ip route static 0.0.0.0 0.0.0.0 0.0.0.0 

Correct Answer: A 

 

QUESTION 2

Segment routing (SR) defines destination address prefixes/nodes and adjacencies on the network as segments and
allocates segment IDs (SIDs) to these segments. Adjacency and prefix/node SIDs are non-sequentially arranged in a
segment list to form a forwarding path. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

The login timeout time in the VRP system needs to be configured on the VTY interface. 

A. Correct 

B. Error 

Correct Answer: A 

 

QUESTION 4

After a command for displaying RIP route information is entered on a router, peer 192.168.1.2 on Serial1/0/0 is
displayed in the returned result. What does 192.168.1.2 stand for? 

A. Address of a RIP neighbor 

B. Address of the port with the RIP protocol enabled 

C. Next hop address of the RIP route 

D. Transmission address of the RIP protocol 
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Correct Answer: A 

 

QUESTION 5

Which of the following entries is not included in the routing table? 

A. source address 

B. next hop 

C. destination address 

D. cost 

Correct Answer: A 

 

QUESTION 6

[RTA-GigabitEthernet0/0/0]nat outbound 2000 address-group 1 Refer to the configuration output. What does the value
"2000" refer to? 

A. It represents the ACL number. 

B. It represents the NAT number. 

C. It represents the translated port number. 

D. It represents the number of bytes that can be translated before the address is returned to the public address pool. 

Correct Answer: A 

 

QUESTION 7

The following configuration can be used to determine that the IP address of the GigabitEthernet0/0/0 interface is
incorrectly configured because the IP address of the interface is not May end in 0. [Huawei]interface
GigabitEthernet0/0/0 [Huawei GigabitEthernet0/0/0] ip address 19.224.17.0 255.255.128.0 

A. Correct 

B. Error 

Correct Answer: B 

 

QUESTION 8

Which of the following descriptions about STP are incorrect? (Multiple Choice) 

A. A layer-2 switching network can have only one designated switch. 
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B. All the ports of the root switch are root ports. 

C. All the ports of the root switch are designated ports. 

D. The switch with the smallest priority value is elected as non-root switch. 

Correct Answer: BD 

 

QUESTION 9

Which of the following types can ICMP packets be classified into? (Choose two) 

A. ICMP transport packet 

B. ICMP error reporting packet 

C. ICMP query packet 

D. ICMP application packet 

Correct Answer: BC 

 

QUESTION 10

Which of the following address types are of IPv6 addresses? 

A. Unicast address 

B. Anycast address 

C. Multicast address 

D. Broadcast address 

Correct Answer: ABC 

 

QUESTION 11

The following is true about the TTL field in the IP packet header (). 

A. TTL defines the number of packets that the source host can send. 

B. TTL defines the time interval at which the source host can send packets. 

C. Whenever a packet passes through a router, its TTL value will be decremented by one. 

D. Whenever a packet passes through a router, its TTL value will be increased by one. 

Correct Answer: C 
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QUESTION 12

Refer to the graphic. RTA and RTB are connected to the same Frame Relay switch and use same DLCI number, which
following is correct? (Choose two). 

A. RTA and RTB must be associated with the same PVC 

B. RTA and RTB can be associated with different PVC\\'s 

C. The DLCI on the different physical interfaces can be the same 

D. The DLCI on the different physical interfaces cannot be the same 

Correct Answer: BC 

 

QUESTION 13

On an FR network, the DLCI identifies a virtual circuit on an interface. The DLCI must be unique during planning and
deployment. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 14

On an FR network, when the fr inarp command is executed, the interface where static address mapping entries have
been configured sends an Inverse ARP Request packet to the remote device to replace the static address mapping
entries. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 15

NAPT allows multiple private IP addresses to be mapped to the same public IP address through 

different port numbers. The following information about the port number in NAPT Description The correct one is (). 

A. You must manually configure the mapping between port numbers and private addresses. 

B. Only need to configure the range of port numbers 

C. No need to do any configuration about the port number 

D. Need to use ACL to assign port number 
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Correct Answer: C 
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